SR A B2 B T B i

PnTTAZOHEITERYT MM EREBEML. UTDEEYTY,

(M. FtiA)
R#TU7 202254 A% 20224E58 9 20224£6 A &
PinTCAEB
iE&ET)7 P::T‘G‘Aféo 1kWhp1=Y 1.40 1.56 1.93
PinTCAZEA
PinTCTAEB
BT P:ET’GA:%C 1kWh# =Y 3.05 3.36 3.47
PinTCAZEIN
PinTCAZB
BREREIVUT P::T’G/\J%G 1kWh#& =Y 2.27 2.74 2.97
PinTCAZEA
PinTCAZB
hETYT7 P::Tf/uaeo 1kWh#H1T=Y 117 1.61 1.77
PinTCAZEI N
PinTTAZB
JtETUT P::T-GAJ%C 1kWh#H =Y 1.77 1.77 1.77
PinTCAZEA
%ﬂ%gfgé@f 3366 33.66 3366
PinTCAZA
Liz@zs 224 224
BEETYT TkWhi7=4) 2.24
g?ﬂggg% 5 TkWhis =Y 224 224 224
n N
3?%%45%@[‘5{)6 47.84 47.84 47.84
PinTTAEA
LiE#Ezs 3.19 3.19 3.19
hEIY7 1kWh#H1=b :
PinTTAZB -1 319 3.19 319
PinTCAZEA TkWha7=)
%ﬂ%&;@%ﬁ? 28.00 28.00 28.00
PinTTAZA
LEEEZL 2.55 2.55 2.55
mETY7 1kWhd1=Y .
E!qug%m TkWhi =Y 255 2.55 255
n >
PinTTAEB
AMTYF7 P::T'G/V%C 1kWh#& 1= 1.57 1.72 1.85

PinTCAZEA




